Corner Brook Intermediate Math 8

Unit 5: Percent, Ratio, and Rate Name:

per 1 5.10 Comparing Rates - Worksheet

1. Write amfor each statement.
a) 560 km travelled in 7 h b) 4 cané of beans for*$1.76 Yz 130
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2. Banana chips sell for 44¢ per 100 g. 6-’-!; 6
How much would 450 g of banana chips cost? 6 .
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3. Which is the greatest average speed?
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4. Which is the better buy? )
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(3 kg of apples for $5.79 or 2 kg for $3.90 QKﬂ'- #3250
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5 A25- kg bag of flour contains enough flour to make 4 cakes
a) How much flour is needed to make 50 cakes? Kg: .0akeS o = 125

21.25kq of flovr needed 25:Y4 1x =122
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b) How many bags of flour do you need?

25 :25:125 v will need
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6. Ned types 360 words in 6 min.
Nate types 220 words in 4 min.
Who would type more words in 10 min?
What assumptions do you make?

Ned Nty Y Ned would bype
wo.rgdbsoz:vz‘-n %:3_%0_0 '2.3-(0 .:IO M ove WOrdS in A0
x:0 [x=G00 4y = 2200 minotes .

" (czo50]
7. In the first 8 games of the hockey season, Moira scored 26 goals.

a) On average, how many goals did Moira score per game?

‘;‘rz‘.\:"‘fi: 35 Moira Scored appvox.

X 1| %gnals/game .

b) At this rate, how many goals will Moira score in 20 games?

25(: ;80 Woira will sore €5 %oa\g
%= 65 mn 20 games

8. The courier travelled 508 km in 8 h.
a) What was the average speed?

Sogkm : Bhr. =435 GqKM/hT.
X fAhe

b) At this rate, how long will it take the courier to travel 889 km?

GoRkm: hy . Sogx = F2 T will Yake Hhrs.

ggm’ X 08 0% fo travel &Abn .
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9. Benny’s cat will eat 2 different brands of cat food. Brand A costs $6.99 for a 1.3-kg bag.
Brand B costs $16.99 f 4.5-kg bag.
a)rarl]:ind fr?: Snit cost oﬁ‘)regch bra?\d ao%‘ cat food. &"ﬁ% M
Which brand is the better buy? 4699 - |.3K X
Retier buy - .3x=699 '
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b) Why might Benny not buy the brand in part a? X= EJ Q "i% "f 5
- Quality ﬁggs/K% x=3.]
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